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B3 —2 FEMICERATHILBESNOERICEIHEE (1/1) _ _ _ REEE | ERR18FE
SEfRHOAE | EES | 129A2023 | B4 \ LHET—5 |  FRfEHh | EEAfRERKHEET _EET
) SERMO TinICHEET S ZEH A
ﬁi’; TREOBBOEILNOKRES TERFDOHBEEILNOKRES TREOBEOEILADKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00{0.00 ~ 043 106.38| 3m%x#82x5% -~ - - —| 100kN/mM%#B % % 1.00{ 10.72 ~ 12.00 106.38| 3m%x B 25 -~ - - -
s 1.00/043 ~ 8.22 100.00f Zhkl4t |0.00 ~ 8.22] 2.10 11.21 s 1.00f 500 ~ 10.72 100.00f Z=hkl4t+ | 5.00 ~ 12.00[ 2.10 11.21
9 100kN/m##8 %% 1.00{0.00 ~ 0.99 114.82| 3m%x#B2 5 -~ - - —| 100kN/mM%#8 % % 1.00{ 12.21 ~ 17.09 114.82| 3m%x#B 25 -~ - - -
s 1.00/099 ~ 8.77 100.00f Zhki4t |0.00 ~ 8.77] 2.12 11.35 s 1.00f 500 ~ 1221 100.00f Zhkl4t | 5.00 ~ 17.09] 2.12 11.35
3 100kN/m##8 %% 1.00{0.00 ~ 223 134.70| 3m%x#B 25 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.67 ~ 19.24 134.70| 3m%x#B 25 -~ - - -
s 1.00] 2.23 ~ 10.02 100.00f Zh 4t | 0.00 ~ 10.02| 2.47 13.22 s 1.00f 5.00 ~ 10.67 100.00f Zhl4t | 5.00 ~ 19.24| 2.47 13.22
4 100kN/m##8 %% 1.00{0.00 ~ 2.66 141.89|3m%*x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.59 ~ 24.06 141.89| 3m%x#B 25 -~ - - -
ZHnLs 1.00] 2.66 ~ 10.45 100.00f Zhkl9t | 0.00 ~ 10.45| 2.64 1413 s 1.00f 5.00 ~ 10.59 100.00f Z=hlst | 5.00 ~ 24.06| 2.64 14.13
5 100kN/m##8 %% 1.00{0.00 ~ 220 134.22| 3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 11.19 ~ 24.06 134.22| 3m%x#B25 -~ - - -
s 1.00]2.20 ~ 9.99 100.00f Zhl4t | 0.00 ~ 9.99] 251 13.44 s 1.00f 500 ~ 11.19 100.00f Z=hklst | 5.00 ~ 24.06| 2.51 13.44
6 100kN/m##8 %% 1.00{0.00 ~ 2.68 142.20| 3m%x#B 25 -~ - - —| 100kN/mM%#B % % 1.00{ 10.67 ~ 25.22 142.20| 3m%x#B 25 -~ - - -
s 1.00] 2.68 ~ 10.46 100.00f Zhkl9t | 0.00 ~ 10.46| 2.94 15.74 s 1.00f 5.00 ~ 10.67 100.00f Zhl4t | 5.00 ~ 2522 2.94 15.74
7 100kN/m##8 %% 1.00{0.00 ~ 2.76 143.64| 3m%x#B25 -~ - - —| 100kN/mM%#8Z % 1.00{ 10.56 ~ 24.74 143.64| 3m%x{B25 -~ - - -
s 1.00]2.76 ~ 10.55 100.00f Z=hkl4t | 0.00 ~ 10.55| 2.66 14.23 s 1.00f 5.00 ~ 10.56 100.00| Zhlst | 5.00 ~ 24.74| 2.66 14.23
8 100kN/m##8 %% 1.00{0.00 ~ 232 136.19| 3m%x#B 25 -~ - - —| 100kN/mM%#8 % % 1.00{ 11.00 ~ 24.08 136.19| 3m%x#B 25 -~ - - -
s 1.00]2.32 ~ 10.11 100.00f Zhkl4t |0.00 ~ 10.11] 2.54 13.58 s 1.00f 500 ~ 11.00 100.00| Zhl4t | 5.00 ~ 24.08| 2.54 13.58
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ LSt ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
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